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�. ��������� ������ !"� #�$%&'�� �  E = 

90 MPa ��� ! = 0.30 (�'�$) ��� � 
�*�� !�'&�+!� (�'�$� P = 800 kN.  

,#��-!��� ��� �� �#� $� � (xA = 0, yA = 
zA = 2m) : 

�) �� �.� �� �x, �y, �z ��� �yz

/) �� �-'� � �.� �� �1, �2, �3 ��� ��
0� *1-!� �� ��*�.

2. 
*����" 0 ��� !" 0���+�'�*

6m (�'�$) � �#!  2�(.! ��
�'�����"� �2�1+� &� � 
�������'(# �.�# p = 100 kPa.  
,#��-!��� : 

�) �� �-'� � �.� �� ��1, ��3 ��� ��
0� *1-!� �� ��*�, ��� �#� $� �
(r� = 0, zA = 3m) ��� 3 (r3 = 2m, 
z3 = 3m), �� �2�$ � �( $��!���
��� 2'��1 �� (�'�$� (p) �#�
0 ��� !"�.

/) � �*!����" 2$ �# 2�'&! 2�*
�!�2�-�� ��� ��� �#� $� �
��+�&� � �. �#!  2�/��" ��* (�'�$�* �#� 0 ��� !"�. �$0 ��� # 2�'.� �'�� �#�
2�+� &� 2�'&! �#� �'�$��*, � = 0.30, 2�* 2'��0��'$�1#� �2� ���.��#�#
�'����!��" 0����".
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3. ��� �� ����% $� � (xA = 0,  yA = 0,  zA = 2m) )#��-!���:

�) �� �-'� � �.� �� �1, �2, �3 ��� �� 0� *1-!� �� ��*�.
/) � �!#��+!# 0����&�#  vol.

4. � � ��-!��� 0-�  !��������+� 1+� �� �"'����� *2�!���*, # 1+�# � ��� # 1+�# 3.

�2�!�"�� 2������. 2��. �2� ��� 0-� 1� 2'�����-��� ��� ����$;



ΑΠΑΝΤΗΣΕΙΣ 5ης ΣΕΙΡΑΣ ΑΣΚΗΣΕΩΝ 
 
 

1. (α) σx
A = σθA = -0.77kPa,  σy

A = σr
A =  13.12kPa, σz

A = 16.84kPa,  

                      τyz
 = τrz

 = 16.84 kPa 

           (β)  

 

 

 

 

 

 

  σ2
 = σθ =  σx

 = -0.77 kPa     

 

2. (α) Δσ1
A = Δσz

A = 64.5 kPa 

  Δσ3
A = Δσr

A = 10 kPa 

  

 

(β)  u = 56.35 kPa 

 

 
 
 
3. (α)     
 
 

 
                                                       σ3

A = σθA =  σx
A = +1.8 kPa     

 
 
 
 
 
 (β) εvol

A =0  
 
 
4. Τη θέση Α διότι στην κλείδα της σήραγγας Δσz

A < Δσz
B 

 
 
 
 
 

σ2
Α=+14.82kPa 

σ1
Α=+97.86kPa 

6.5ο 

σ1
A=31.92kPa 

σ3=-1.96kPa

48.2ο 

41.8ο 

Δσ3
Β=6kPa 

Δσ1
Β=54kPa 

18.4ο 

71.6ο 
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